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Out of Left Field #0 (solution)
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SE(E + Y)OUL + ATE +R
PI-RATED

[h]JEMEN + DE + D

& 4D AN + GLEE

ARRIVED + ERCI (anagram)
anagram

HAS + TAL[e] + AVIS + TA
A(U + REVO)IR (over reversal)
KNI(G)HT (reversal)
[P]ROBIN[g]

anagram

KEE (reversal) + PINT + OUCH

S(HRUGO)FF (rough anagram)
E + X + TRA (reversal)

hidden

anagram

2 defs.

PLA (reversal) + NAR (reversal)
anagram

VERIL (anagram) + [r]Y[e]
[t]INA + D(V)ANCE

2 defs.

TRIP + OLI (anagram)

VAN +U(A+T)U

“pear”

TRE(BE)K

G. NASH

S+ POT
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